Chapter 3 Review

Solve each system by graphing ( POmt o-F Inteyrse ()(\O\f\)
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- The spreadsheet shows the monthly revenue and monthly expenses for a
new business. Find a linear model for monthly revenue and a linear model for
expenses. Then use the models to predict the month when revenue will equal

expenses. (Hint: February = 2, March = 3, etc) R@\I y= 2000 X + 2200
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Solve the system.
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11. A group of 60 people went to a game. There were twice a5 many men as
women in the group. Setup a system of equations to represent the number of

women and men and solve,
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Solve by graphing.
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17. Jenna spends at most 150 min a night on math and science homework.
She spends at least 60 min on math. Write and solve a system of inequalities
to model how She allots her time for these two subjects.

y =math Yy = w0



Solve the system.
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21. AtRenaldi’s Pizza, a soda and two slices of the pizza-of-the-day cost

$10.25. A soda and four slices of the pizza- of-the- -day cost $18.75. Write a
system of equafions to model the information and find the cost of each item.

X=Soda X+2y=10.25 \35,4.25
y = piz2a X+4y=18.75 ( 't )

22. A bookstore took in $167 on the sale of 5 copies of a new cookbook and 3
copies of a new novel. The next day it tookin $89 on the sale of 3 copies of the
cookbook and 1 copy of the novel. Set up a system of equations to model the
data and use it to find out the price of each book.

(25,14)

X=cwookbook Y =novel

23. A psychologist needs af [east 40 subjects for her experiment. She cannot
use more than 30 chlldren Write and graph a system of inequalities.

X=aduts y=children 3’““1’ 10

£ 30

24. A 24-hour radio stationplays only classical music, jazz, talk programs, and
news. It plays at most 12 h i of which at least 4 h is classical.

Jazz gets at least 25% as much time as classical. Write and graph a system of
inequalities.
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25. Each order of lasagna or ravioli at Casa Italia weighs 1 Ib and consists of
meat filling wrapped in pasta. On Tuesday evening, the restaurant sepyed 40

orders of ravioli and 60 orders of lasagna and used 60 Ib of meat filling. On
ednesday evening, it sold 60 orders of ravioli an orders of lasagna and
used 50 Ib of meat filling. How much meat fillingis used in an order of ravioli
and how much is used in an order of lasagna? ( 1 2
:)
Z

X=vravioll y= tasagna

Solve the systems:
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